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a2 — T =T —H
1AH 2 KH
a—RAt v H— T = a—Aty X — T =
AIEH - A - Ha  Ed ISR - A - g &=
miAE#E - B - BE =
AIE#H - C - TR &=
T 21(20) 2K — MR 13:20 TEF % OPEN A K — R
KA Hh E4Y N— R KA =
A —b/T 4=y RIR 1°C / 2°C A —b/T 4=y RIR
F:
JIER Ap—=b =p R - 1KH 2AKB & 7 L—x
No No K4 T B 4 BF OB B OBF OB RAUD
1 51 J& R 74 RR—A 36.62 36.84 1:13.46
2 53 e & 74y RR—A 37.75 36.58 1:14.33
3 52 (LM w 74 RR—A 38.16  37.83 1:15.99
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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DATA PROCESSING by SE I KO

TIMING by SET KO



TR ) = R—= 2 A LF ¥ L2022

i I

Y7 b

Vall— T =T —H
1AH 2 KH
a—RAt v H— T = a—RA vy H— T =
AIEH - A - Ha  Ed ISR - A - g &=
miAE#E - B - HE &
AIE#H - C - TR &=
T 21(20) 2K — MR 13:20 TEF % OPEN A K — R
KA Hil E4Y N— R KA =
A —b/T 4=y RIR 1°C / 2°C A —b/T 4=y RIR
F:
JIER Ap—=b =p R - 1KH 2AKB & 7 L—x
No No K4 T B 4 BF OB B OBF OB RAUD
1 55 e A 74 RR—A 4315 4296 1:26.11
2 54 BEAR + 74 RAR—A 4454 4266 1:27.20
3 60 [iizgan e 74 RR—A 4210  47.88 1:29.98
4 56 JINBR or 74y RR—A 46.44 4520 1:31.64
5 58 5] H AR 74 RR—A 47.88  46.72 1:34.60
6 59 =i HE— R 74y RR—A 49.88 47.94 1:37.82
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFTED [1st RUN]
DID NOT START [2nd RUN]
2022-01-08 / FRZEIFA X —15 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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F:
JNENE Ap—=b - EE 1AH 2AKH & F 1—x
No No K4 Fr B 4 S = 157 N | = 157 2 % G N

DID NOT FINISH [2nd RUN] 0

DISQUALTFTED [2nd RUN] 1

57 i DA TN AR GATE No. 15, ICR629. 1.
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DATA PROCESSING by SE I KO TIMING by SET KO



